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COMMERCE

Paper I1I

Time Allowed : 1% Hours] [Maximum Marks : 100

Note :— Attempt All questions. All questions carry equal marks.

1

In which of the following basic categories can business environment be

divided ?

(A) Local and Regional : - (B) Regional and National

(C) Internal and External (D) Financial and Non-Financial

Which of the following is not an essential feature of social environment ?
(A) Competitiveness (B) Respect for iiidividual
(C) Better quality of life (D) Bailment

What type of measure is low imposition of taxes, pollution permits and the

allocation of property rights ?
(A) * Promotional (B) Participatory
(C) Fiscal | (D) None of these

What are the important areas in which Second Generation Reforms were also

emphasized ?
(A) State’s role in the reforms
(B) Greater tax devolution to the states

(C) Focus on the social sector

(D) All of the above
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5. Which of the following is not a characteristic of the Capitalist System ?
(A) There are large number of buyers and sellers.
(B) Government has no role in economic activities.

(C) The working class collectively owns the means of production for their

welfare.

(D) The individual is fr\ee to choose any occupation he is qualified for.
6. The distinction betﬁeen captial and revenue expenditure is based on :

(A) Money measurement concept

(B) Going concern concept

(C) Matching concept

(D) Realisation concept
7. Reserve capital is createci :

(A) Out of capital profits

(B) Out of revenue profits

(C) By increasing the nominal amount of each of its share

(D) None of the above
8. An example of cash flow financing activity is :

(A) Payment of dividend

(B) Receipt of dividend on investment

(C) Cash received from customers

(D) Purchase of fixed assets

T.B.C. : 04/17/ET—II 4
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10.

11.

A company cannot buy its own shares out of its :

(A) Free reserves

(B) Security premium account

(C) The proceeds of any shares lor other specified securities
(D) Capital rédemptioﬁ reserve account

If contribution margin increases when sales volume and price remains the

same, the reason is :

(A) Variable cost per unit increases

(B) Variable cost per unit decreases

(C) Fixed cost per unit decreases

(D) All of the above

Consumer stops purchasing the'ad.ditional units of a commodity when its :
(A) Marginal utility is eqﬁal to marginal utility of money

(B) Margir}al utility starts declii;ing

(C) Marginal utility becomes zero

(D) Total utility is increasing

T.B.C. : 04/17/ET—IT 6
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12.  Which of the responses of returns to scale have also been named

“Homogeneous production function of first degree”.
(A) Increasjng returns (B) Decreasing returns
(C) Constant returns | (D) All of these
13.  Given the demand curve faced by the monopolist, monopolist can fix :
A(A) Both price and output
(B) Either price or outpﬁt
(C) ‘Neither price nor ouput
(D) None of the above
14. ‘Kinked’ demand curve is related to :
(A) Monopoly (B) Duopoly
(C) Oligopoly (D) Perfect Competition

15.  The equilibrium level of output for a perfect competition firm is given by the -

point where :
(A MR = MC 3 - (B) MR < MC

(C) MR > MC (D) MR = MC, and MC starts rising

TB.C. : 0417/ET—II 8
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16.  Which of the fbllowing relationship is not correct ?

(A) HM =2 GM.<AM. (B) GM.=,/AM.xHM.

(©) HM = (G.M)2/AM (D) HM. < GM.<AM.

17.  Which of the following is an example of using a sample to make inference

about a 'population ?
- (A) The census

(B) Pre;election poll by meciia

‘(C) Assembly elections

(D) Statistics of a cricket player in one-day matches
18.. Coefficient of variation is useful for studying :

(A) Consistency B Inc’onsis’cency

(C) Homogeneity ' k‘(D) All of these |
19. A distri'bution is skewed, if :

(A) the Vglues of mean, median and mode are not equal

(B) the twoA quartiles are not equidistant from median

(C) the sum of the positive deviations from median is not equal to the sum

of negative deviations from median

(D) All of the above

T.B.C. : 04/17/ET—II - 10
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20. Which of the following statements is wrong with respect to marketing

information system ?

(A) It enhances .the efficiency of the business

(B) It improves customer satisfaction

(C) It is a time-consuming process

(D) It creates more interactive atmosphere between salesforce and customers

21. “Planningis a continuous process of making present entrepreneurial decisions

systematically.” Who said this ?
(A) Peter F. Drucker (B) Koontz and O' Donnell
(C) Henry Fayol - (D) None of these
22. Which of the following is a non-financial incentive offered to employees ?

(A) Regular increment in pay and enhancement of allowances from time to

time

(B) Providing share in the profits of the organisation to the employees besides

their wages and salary

(C) Job satisfaction which leads to change in the attitude of the empolyees

from negative to positive
(D) Fringe benefits and perquisites

T.B.C. : 04/17/ET—II 12
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23.

24.

25.

Which of the following is not a characteristic of decision-making ?

(A)

(B)

©)

D)

It is a continuous and dynamic process.
It is a time-saving activity.

It is a goal-oriented process and provides solutions to problems faced

by a business unit.

It is a means for not only planning an objective but also achieving it.

Which of the following statements is incorrect according to ‘Stability of Tenure’

principle of management ?

(A)

(B)

(&)

D)

Employees should not be removed from their positions frequently.
The period of service in a position should not be fixed.
Management should remove the feeling of job inseéurity.

Employee turnover should be minimized to maintain organisational

efficiency.

Which one is not a feature of business ethics ?

(A)

(B)

(&)

(D)

Business ethics must be enforced by law.

Business ethics gives protection to different groups such as consumers,

shareholders etc.
Business ethics is a new concept.

Business ethics contains moral and social rules for doing business.

T.B.C. : 04/17/ET—II 14



23.

24.

25.

frm § Q4 s fofa o 1 fodomr & %2
(A) @8 T Haq iR Tiwia wiea B
(B) 7% &% §HF ¥=M i Wfafafy gl

(C) T T EE-SE YEW ¥ R SR g R W w1 W A weensd

F1 GHYE YEH T B

(D) ¥E 7 HIA Th IS FI AN T § e W W wA F A off T

A T
v & fagi & ‘wriee fera’ fagia $ ogER Frefafe wel §
TR"TH%?:
(A) mﬁﬁﬁmwamﬁmma@m
(B) fodt foufg # Qa1 =t oty @@ & &t 9 =R
(C) VAT W e STHRAT H WIEE hl QT HET e

(D) FHEH FRER F GISHR &N aE W A F9-8-F7 fFA 5=
il

.M@W%ﬁm_aﬁfaﬁwvﬁﬁ%?

(A) =R fdemar SEF 5N AR ST =R

(B) aw%ﬁméqaﬂwaﬁ,wwmﬁﬁﬁfmw@aﬁgmmw
g |

(C) =R AR TH T SR T

(D) SR &8 & fou =eaw Stea § e ok gmfss free 2 g

T.B.C. : 04/17/ET—II 15 | P.T.0.



26. AIDA model of advertising stands for :
(A) Attention (awareness), interest, desire, action
. (B) Alertness, interest, desire, action
(C) Attention (awareness), information, desire, action
(D) Alertness, information, desire,} accomplishment

27. When the company fixes price of the same product at two different prices

based on differences in name and image, it pursues :
(A) Promotional pricing (B) Discriminating pricing
(C) Special event pricing (D) Product-mix pricing

28.  The task of encoding the communication message for its customers is often

accomplished by :
(A) Advertising agency (B) Consumer interest group
(C) Media channel (D) Public relation expert

29.  Psychographic segmentatioﬁ refers to segmenting the market on the basis |

of one of the following :
(A) Social class | (B) Benefits sought

(C) Gender and age . (D) Lifestyle and personality

T.B.C. : 04/17/ET—II 16



26.

27.

28.

29.

foqT @1 AIDA Wied @i @

(A) YA (), TR, feorr, wRm
(B) oTeed, T, ﬁesrrqt TR

(C) 3TRM (ATTH) W‘ﬁw feseR, TRA
D) s, T, feTR, TR

o wT T S o § S B SR W S S He W S s #

@1 ffved =t &, @ I8 Fean ¢
(A) YERE e frei (B) cuE oI faRw

() foom s o frarw (D) @R fasw qea fur

| A T B T TER W THIfET w1 wE R 0 R S T, Fre g

(A) fommm e (B) SuseRm fed W
(C) TR WeEH Jumel! (D) HEste ey fouee

et sk refefen § @ FRe 3 9N R AR A % FE A

i =@ § ?
(A) TR o " (B) smiferd wrR
(C) fem iR 3y (D) S-St iR =afrE

T.B.C. : 04/17/ET—II 17 P.T.O.



30.

als

32.

33.

Launching additional items in a given product category under the company’s

existing brand name is ‘refen.'ed to as :

(A) Brand extension | (B) Line extension

(C) Multi-branding (D) None of these

Which of the following statements is true ?

(A) Proﬁtabili’py index of a project is always greater than one.

(B) If profitability index is greater than one, its NPV is positive or greater

than zero.
(C) If profitability index is equal to zero, its NPV is greater than zero.
(D) If profitability index is less than one, its NPV is greater than zero.
The (iegree of financial leverage is zero, if :

(A) EBIT

Interest | (B) EBIT = Zero

©) EBIT = Preference dividend -~ (D) Interest is Zero
‘Personal levefage can replace corporate leverage’ is assumed by :
(A) MM model (B) Traditional Approach

(C) NI Approach (D) NOI Approach

TB.C. : 04/17T/ET—II . 18
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34. A ‘Bird in Hand’ érgument is given by :
(A) James E. Walter
(B) Myron Gordon and John LintnerA
(C) MQdigiiani and Miller
(D) Residual Theory |
35. | Qi)erating cycle of a firm lengthenAs due to : |
(A) - decreésing credit period to custorﬁers
(B) decrease in raw material conversion period
(C) decrease. in credit period received frqm_ suppliers
(D) All of the above

- 86. To assess the reasoning and comprehension ability, the tests conducted

are :
(A) Personality tests . (B) Achievement tests

(C) Interest tests ~ »(D) Mental ability tests

37 National Institute of Labour Management was set up in the yéar ;
(&) 1945 . ® 1048
(C) 1950 ‘ D) 1952 -

T.B.C. : 04/17/ET—II 20
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38. lESIC day is celebrated on :
(A) 24 February  (B) 25 January
(C) 26 March . (D) None of these
39.  Selection decisions are ultimately based on :
(A) Personal whims and farcies (B) Refgrrals
(©) Nepotism ' (D) Pérformance issues
40. Hawthorne experiments were conducted by :
(A) Elton Mayo - (B) Dave Ulrich
(C) .Gary Dessler _ (D) Paul Blyton
: 41 The acronym RTGS stands for :
(A) Real-time gross settlement
(B) Real-time gain settlement
- (C) Real-total gross settlement
(D) Real-total gain settlemept
42. The committee on ‘Financial Sector Reforms’ in India was headed by :
(A) Raghuram Rajan - (B) Urjit Patel

(C) C. Rangarajan (D) P.J. Nayak

T.B.C. : 04/17/ET—II 22
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43.
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46.

RBI started the ‘Ombudsman System’ to resolve customer grievances in the

year :
C(A) 1990 (B) 1994

(C) 1995 (D) 1997

As per Capital Adequacy Norms of Basel III, Tier-1 capital (as % of risk-

_weighted assets) in India should be :

A) 6% | B) %
©) 8% D) 9%

‘Scheduled Banks’ refer to those banks that are included in the ..........c..ccc.c..

Schedule of RBI Act, 1934, °
(A) First ' ). Qesond
(C) Third ’ (D) Fourth

“A country should never produce goods at home that it can buy at a lower

cost from other countries.” Who said this ?
(A) Michael Porter

(B) David Ricardo

(C) Adam Smith

(D) David Hume

T.B.C. : 04/17/ET—II 24
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48.

49.

50.

Asian Develomenf- Bank is headquartered in :
(A) “India | (B) China
(6 Philippines (D) Stngapore

Which one of the following does not belong to the World Bank group ? | |

*) IMF - (B) MIGA

(C) IBRD 3 . (D) ,IDA

Establishment of a new operation in a foreign country by making investment

in new production facilities is known as :

(A) Franchising

~ (B) Brownfield Investment

(C) Turnkey Project
(D) Greenfield Investment

The short-term movement of funds from one currency to another in the hope

of profits from fluctuations in exchange rates is known as :
(A) Trading - ;o _ (B) . Speculation

(C) Hedging ' (D) Arbitrage

T.B.C. : 04/17/ET—II 26
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